
29

1

2

3

4

5

6
6

7

7

8

9

10

11

11

13

12

14

14

14

14

15

15

15

15

16
16

16

16

17

18

18

19

19

20

20

20

20

21
21

21

21
22

23

23

24

24 25

26

27
27

27
2728

28

28

28

20

20
20

20

20

20
20

20
20

20
2020

30

10

34

SLEEVE RIGHT 33

SLEEVE LEFT 32

REPACK 31

MUFFLER REPAIR KITS

WARNING! IN CASE OF COMBINATION WITH RACING LINE 
TUBE SET, MUFFLER EC TYPE APPROVAL IS NOT VALID!

WARNING! EC TYPE APPROVAL IS VALID ONLY WHEN 
OPTIONAL CATALYTIC CONVERTER IS INSTALLED!



No. SALES CODE DESCRIPTION QTY.

1 S-K14SO3-HZAAT S KA ZZR1400 SO HOM 2012 LSMTC@ 1

2 M-HZAA00302TL M HSO KA ZZR1400 L 12 S65Z10 T400/2×D45 1

3 M-HZAA00302T M HSO KA ZZR1400 D 12 S65Z10 T400/2×D45 1

4 L-K14SO3L LP SS D56/52/65 L KA ZZR1400 SO 12 1

5 L-K14SO3R LP SS D56/52/65 D KA ZZR1400 SO 12 1

6 V-TUV120L vložek ses. HOM SS D28/3/43/22° L TUV120 2

7 V-TUV120 vložek ses. HOM SS D28/3/43/22° D TUV120 2

8 V-EC168 SRO zad. CA AA7/1 za KA ZZR1400 12 L SO 1

9 V-EC148 SRO zad. CA AA7 SS za PIAG MP3 SO 10 1

10 P-KAT-033 katal.sest.SS D62/65×48/85 EU3 KA ZZR140 2

11 P-R32 objemka SS D56×16 M8×35 2

12 P-HSK14R2L HS CA KA ZZR 1400 SO 12 L 1

13 P-HSK14R2 HS CA KA ZZR 1400 SO 12 D 1

14 P-DRH1/BAR316 podl. temp. tes. D20/5,8×2 BAR AISI316 4

15 P-DRH7/BAR podl. temp. tes. D15/5,8×2 BAR AISI316 4

16 P-FB44 vijak šest. prirob SS M6×12 UN5951 e-fix 4

17 P-GUV009 gumi vložek D30×15/M8×8 1

18 P-FB52 vijak šest. prirob FE M10×65×1,25 SC 2

19 P-DR45 puša dis. AL D10,5/32×8 ELOX 2

20 P-S1 vzmet SS D10×80 Tip1 z zašc. gumo S1 16

21 P-GUV004 gumi vložek D18 nased-D13 logotip 4

22 P-HST2AL nalepka Akrap. HOR 150 AL 2

23 P-TT28 trak zak. TI L=500 S=16 AA TI TT28 izs 2

24 P-TT43 trak zak. TI L=386 S=16 Z TI TT43 N862 2

25 H-K14R2 HE SS 4×D38/42 KA ZZR1400 R 2012 1

26 C-K14R3 CO SS 4×42,3/2×52 KA ZZR1400 R 12 1

27 P-2 puša gl.SS D38/42×21 HO CBR600,900 P-2 4

28 P-FY25 prirob. AL D38,8/61 YA YZ250F FY25 4

29 E-K14R1 E KA ZZR1400 2012 HSCS opc. 1

30 P-HF661 cep lambde SS S22×M18×1,5/S22×M12+tesnil 1



No. SALES CODE DESCRIPTION QTY.

31 P-RPCK60 MMRCK tip 60 1

32 P-RKS317ZAAT40 MRRSK tip 318 ZT-AA40 T400Z-AA L 1

33 P-RKS318ZAAT40 MRRSK tip 317 ZT-AA40 T400Z-AA D 1

34 P-VEZ2 vezica plastična L=170 S=4.5 črna 2



25

50

75

100

125

150

175

200

80

90

100

110

120

130

140

150

160

2000 3000 4000 5000 6000 7000 8000 9000 10000

KAWASAKI ZZR 1400 2012

12/13/11 SuperFlow WinDyn™ V2.8 10:51:20

W
h
lP

w
r

E
n
g
T

rq

EngSpd  RPM   

ORIGINAL SLIP-ON


	Sheet 1
	Views
	new_view_15
	new_view_16

	Zones
	A1



